
4740E3 117125



#
Bag 1 Bay 2

Tails Heads
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(3) P(white ball) = . *+ · z=



#
⑧ coin flipped 3 times

A = at least one head

B = at least two heads

Want P(BIA)
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Ethod2
Given A has happened .

It's

the new sample space,

So you just do =

SECREDO-Method2)

Dealt 2 cards

B = both cards aces

A = at least one ace

As = one is Ad

(a) P(BIAs)



PCBAIn used

P(EIF)= Let's try

otherwas
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⑪possibilities

Witha
e

new sample space size 51 .

E, ....]
3 have another acc.
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⑮ Dealt 2 cards

from S2-card deck.

(a) P(both acess

(b) P(both same
face value

#(blackjack)
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(a) tE how many
= (2) = 6
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(b) P) both same face value
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order matterste
= 9/28

first⑳
-

#
⑮ 5 card poken hand

P(flush)

flush means
all same suit

D
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Answer-

=960
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E
O (c) Roll four 8-sided dise

Plat least three I's)

#8 18 18

1S1 = 8 . 8 . 8 . 8 = 84
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bick where
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(5) Ev = 4 . 7=way

fill in other spot not 1
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